Homework #6 Math 527, UNH spring 2014

Problem 1: Find the Laplace transform or inverse Laplace transform as indicated.

(a) {3t + )% (t — 1)}

(b) Z{e*(t —1)*}

1 25+ 5
(c) £ {32—1—63—}—34

86—71'5/2
d -1
()£ { 52 +4 }
Problem 2: Express the function f(t) in terms of the Heaviside function % (¢t — a) and
then find the Laplace transform Z{f(¢)}.

sint 0<t<2m
0 2 <t

(b) f<t>—{f2 R

Problems 5-7: Use Laplace transforms to solve the initial-value problems.

t 0<t<l1

5.y +2y=f(t), y(0)=0, Wheref(t):{o 1<t

0 0<t<3

6. v'+2+y=f(1), w0)=0, %(0)=1, where f(t)= {2 <

7.y 4y 4 by =6(t—2m), y(0)=y'(0)=0



